If it’s possible I would like the ability to change the colours of the numbers/lines etc. which appear.
1. Sequential Indicator
Buy Set Up:
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· The sequence begins when a Bearish Price Flip occurs.  This is when the market records a close greater than the close four bars earlier, immediately followed by a close less than the close four bars earlier.
· After a bearish Price Flip, there must be nine consecutive closes, each one less than the corresponding close four bars earlier. 
· As these 9 consecutive closes occur (uninterrupted) they should be numbered one to nine as they occur (bar one is the bar in the bearish price flip where the close is lower than the bar four bars earlier).
· If the sequence is interrupted then the numbers should disappear. 
· An arrow should appear below bar nine when the low of bars eight or nine of the Buy Setup (or a subsequent low) is less than, or equal to, the lows of bars six and seven of the TD Buy Setup.
· When a Buy Setup that began before, on, or after the completion of a developing Buy Countdown, but prior to a bullish Price Flip, extends to eighteen bars— that is, eighteen closes, with each one less than the close four price bars earlier an R should appear where a number would have.
Sell Set up:
· The sequence begins when a Bullish Price Flip occurs.  This is when the market records a close less than the close four bars before, immediately followed by a close greater than the close four bars earlier. 
· After a Bullish Price Flip, there must be nine consecutive closes, each one greater than the corresponding close four bars earlier. 
· When these 9 consecutive closes occur (uninterrupted) they should be numbered one to nine as they occur (bar one is the bar in the bullish price flip where the close is higher than the bar four bars earlier).
· If the sequence is interrupted then the numbers should disappear. 
· An arrow should appear above bar nine when the highs of bars eight or nine of the Sell Setup (or a subsequent high) is greater than, or equal to, the highs of bars six and seven of the Sell Setup.
· When a Sell Setup that began before, on, or after the completion of a developing Sell Countdown, but prior to a bearish Price Flip, extends to eighteen bars— that is, eighteen closes, with each one higher than the close four price bars earlier an R should appear where a number would have.


2. Countdown Indicator
Buy Countdown
[image: ]

· When bar nine is recorded the countdown indicator can begin from the close of bar nine of the Setup (inclusive), onward if the close is lower than the close two bars earlier. 
· In this indicator, if a close is lower than the close two bars earlier then the bar should be numbered (from one to thirteen)
· If Bar nine of a Buy Setup also has a close less than, or equal to, the low two bars earlier, then, Bar nine of a Buy Setup becomes bar one of a Buy Countdown. 
· If That condition is not met Then Buy Countdown bar one is postponed until it does, and the TD Buy Countdown continues until there are a total of thirteen closes, each one less than, or equal to, the low two bars earlier.
· The numbers should disappear if a bullish price flip occurs in the sequence.
· If possible, I would like the option of deleting the countdown numbers entirely.
Sell Countdown
· As above but the reverse.
· The numbers should disappear if a bearish or bullish price flip occurs in the sequence.
· If possible, I would like the option of deleting the countdown numbers entirely.

3. Combo
Buy Combo
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· Combo works the same way countdown does (numbers 1-13 based on closes lower than, or equal, to the close two bars earlier) except that bar one starts at the same time as bar one on sequential, instead of at bar nine, but only appears once bar nine is recorded.
· Each Combo Buy Countdown low must be less than, or equal to, the low of the 
· prior price bar; 
· Each Combo Buy Countdown close must be less than the previous Combo Buy Countdown close; and 
· Each Combo Buy Countdown close must be less than the close of the prior price bar.
· If this isn’t the case then the numbers on this indicator should disappear. 






4. Wave
UPTREND
[image: ]
When the following criteria are satisfied numbers should appear on the chart as they happen
Requirements for Wave 1 
To initiate an up-wave sequence, 
1. The origin of the Wave up sequence is defined once the market records a 
twenty-one–bar–low close (a close less than all twenty prior closes). 

2. Once condition one is satisfied, the market must post a thirteen-bar–high close 
(a close that is higher than all twelve prior closes). This confirms the origin of the 
TD D-Wave sequence and establishes that the market is in Wave 1. 

3. Wave 1 is not considered complete, however, until price subsequently reaches an eight-bar–low close (a close less than all seven prior closes), which, in turn, confirms that TD D-Wave 2 is in progress. 

Requirements for Wave 2 
1. The  first  requirement  for  wave 2 is  the  last requirement of wave 1, that  is, that the market record an eight-bar–low close (a close less than all seven prior closes); 
And then 
2. TD D-Wave 2 continues until the market records a twenty-one–bar–high close (a close that is higher than all twenty previous closes), reinforcing the notion that TD D-Wave 3 is underway. 

Requirements for Wave 3 
1. The first requirement of wave 3 is the last requirement of wave 2, that is, that TD D-Wave 2 continue until the market records a twenty-one-bar–high close (a close that is higher than all twenty prior closes), reinforcing the notion that TD D-Wave 3 is underway; 
And then 
2.	 This remains the case until we see a thirteen-bar–low close (a close less than 
all twelve prior closes), thereby signalling that TD D-Wave 3 is complete and TD D-Wave 4 is unfolding. 

Requirements for Wave 4 
1.	 The  first  requirement  of  wave  4  is  the  last  requirement  for  wave  3,  that is, that there be a thirteen-bar–low close (a close less than all twelve prior closes), thereby signalling that TD D-Wave 3 is complete and TD D-Wave 4 is developing; 
And then 
2.	 TD D-Wave 4 is considered complete when the market subsequently posts a thirty-four–bar–high close (a close greater than all thirty-three closes before it), representing the onset of TD D-Wave 5. 

Requirements for Wave 5 
1.	 The  first  requirement  for  wave  5  is  the  last  requirement  for  wave  4,  that is, that  there  be  a  thirty-four-bar–high  close  (a  close  greater  than  all  prior thirty-three  closes),  thereby  signalling  that  TD  D-Wave  4  is  complete  and TD D-Wave 5 is developing; 
And then 
2.	 TD D-Wave 5 is considered complete when the market subsequently posts a  thirteen-bar–low  close  for  TD  D-Wave  A  (a  close  below  all  twelve  prior closes), representing the onset of TD D-Wave A. 
Requirements for Wave A 
1.	 The fjrst requirement for wave A is the last requirement for wave 5, that is, that the  market  post  a  thirteen-bar–low  close  (a  close  less  than  all  prior twelve closes), representing the onset of TD D-Wave A; 
And then 
2.	 TD D-Wave A is considered complete when the market subsequently posts an eight-bar–high close for TD D-Wave B (a close above all seven prior closes), representing the onset of TD D-Wave B. 
Requirements for Wave B 
1. The fjrst requirement for wave B is the last requirement for wave A, that is, an eight-bar–high close for TD D-Wave B (a close above all seven prior closes), representing the onset of TD D-Wave B; 
And then 
2. TD  D-Wave  B  is  considered  complete  when  the  market  subsequently  posts a twenty-one–bar–low close for TD D-Wave C (a close below all twenty prior closes), representing the onset of TD D-Wave C. 
Requirements for Wave C 
1. The  first  requirement  for  wave  C  is  the  last  requirement  for  wave  B, that  is, a twenty-one–bar–low close for TD D-Wave C (a close below all twenty prior closes), representing the onset of TD D-Wave C; 
And then 
2. TD  D-Wave  C  is  locked  when  the  market  closes  below  the  low  close  of TD D-Wave A. 

Additional Qualifying Rules for the Application of the TD D-Wave Indicators for an Uptrend 
1. The  peak  close  of TD  D-Wave  3  must  be  higher  than  the  peak  close  of TD D-Wave 1, and the peak close of TD D-Wave 5 must be above the peak close of TD D-Wave 3. 
2. if a pullback from TD D-Wave 1 is so shallow that the decline fails to satisfy the conditions necessary to initiate TD D-Wave 2, and the market subsequently recovers above what had been the TD D-Wave 1 high close, then TD D-Wave 1 will shift over to the right in line with the new high close. 
3. if a pullback from TD D-Wave 3 is so shallow that the decline fails to satisfy the conditions necessary to initiate TD D-Wave 4, and the market subsequently recovers above what had been the TD D-Wave 3 high close, then TD D-Wave 3 will shift to the right in line with the new high close. 
4. If a pullback from TD D-Wave 5 is so shallow that the decline fails to satisfy the  conditions  necessary  to  initiate TD  D-Wave A, and  the  market  subsequently  recovers above what had been the high close of TD D-Wave 5, then TD D-Wave 5 will shift over to the right in line with the new high close. 
5. TD D-Wave 5 will be locked into place only when TD D-Wave C violates the low close of TD D-Wave a on a closing basis. until that happens, if what had been TD D-Wave B closes above the high close of TD D-Wave 5, then TD D-Waves A and B will be erased, and TD D-Wave 5 will shift to the right. 
6. If TD D-Wave 2 closes below the low close of TD D-Wave 1, then TD D-Wave 1 will  disappear, and  the  count  must  begin  anew. (Similarly, if the low  close  of TD D-Wave 4 closes below the low close of TD D-Wave 2, then TD D-Wave 2 will shift to where TD D-Wave 4 would otherwise have been.) 
7. Once TD D-Wave C violates the low close of TD D-Wave A, TD D-Wave 5 is locked into place and cannot move. (Consequently, if the market subsequently closes back above the high close of TD D-Wave 5, rather than erasing TD D-Waves A, B, and C, and movingTD D-Wave 5 to the right,the indicator will instead label the move to new highs as a fresh TD D-Wave 1 advance rather than erasing the previous TD D-Wave 5.) 
DOWNTREND
As above but in reverse.  They should show at the same time as the uptrends.
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